SAM: ol
ZE: SHETAHOIY L ST KM DRELTSNL /AT
s ofdEd MAHE HA EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ot 55,876,201 59,266,494 A3,390,293
= 7,961,132
[ 1,015,000
= 46,900,069
SHETHOHOIY & =Xt JIXIM (S ER XS IHL/=XH) 55,365,037 59,233,985 13,868,948
= 7,961,132
s 1,015,000
= 46,388,905
dH2tE MAH e 37,823,305 29,233,660 8,589,645
otEd i THE =& 1,018,500 1,017,580 920
201 er23| 13,500 13,500
01 At2teltl 13,500 13,500
A2 2e|?Bs 23 13,500
202 04dl 5,000 4,080 920
01 2L AL 5,000 4,080 920
OGSt THH MG K= B 3,500
O=XEEH g =4 1,500
308 XtXIEMSO0IE 1,000,000 1,000,000
2 d+uFs 1,000,000 1,000,000
OotEANESZ A+1TR= 1,000,000
XSt HE(WER) (HEALY) 506,000 506,000
401 AIEHIZ S0 506,000 506,000
01 Al&H| 500,000 500,000
OUWEE XLatEFHI(HE) 500,000
03 AIZSTHYI 6,000 0 6,000
OUWEd XLt FHI(HE) 6,000
NSt (=2 d) (HEAIY) 806,000 806,000
401 AIEHIZ R 0HYI 806,000 806,000
01 Al&H| 800,000 800,000
O=d XYt FHI(HE) 800,000
03 Al 20HHI 6,000 0 6,000
O+ & XlgotdAH|(&E) 6,000
XISt ZH| (G THOH Ol 2 ) (D & ALY ) 25,894,200 22,998,080 2,896,120
403 MR EHSAHE01H 25,894,200 22,998,080 2,896,120
01 MHXIHH A 22 25,894,200 22,998,080 2,8%,120
OFH EHA NYotHFHI(ME) 1,600,000
O¥x 23 NYStAEHI(ME) 3,326,400
OZE H=d XYSEFHI(HE) 3,000,000
OYE =T XYstEFHI(HE) 1,000,000
Od= DtSA XLot®EH| (& 2,400,000
o= n=d XLotd FH|(H&) 1,400,000
O=d 453 XYotd (&) 2,400,000
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A SR
M SIETNHOIY L AR OIXIR D (ZELR AN/ HRH)
s ofdEd MAHE HA EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OE4 el XILsHEZH|(HE) 2,240,000
Og9e s2& XYSHEEHI(HE) 792,800
OEY & XIYSEFHI (X 800,000
OFHE ARSUA XYGHEFH|(HE) 2,400,000
OYY LA XIYSAFLI(HE) 2,135,000
OStH A XL ZH|(X&) 2,400,000
XLSHEFH(DZA A2IKT)(HEAL) 1,000,000 2,106,000 21,106,000
401 AlEHIL 2L 1,000,000 2,106,000 A1,106,000
01 Al&H] 800,000 1,700,000 A900,000
ODUH MUK XIYsHHTHI(ME) 800,000
02 22l 194,000 400,000 206,000
ODZLH ARIXT XLstEFY(HE) 194,000
03 Al&STHH| 6,000 6,000 0
ODNZLH A2IX7 XLstEFY|(Ha) 6,000
NLEAZH(SE DAXIR)(HBAIY) 1,000,000 2,106,000 1,106,000
401 AlEHI L2 1,000,000 2,106,000 21,106,000
01 AlZH] 800,000 1,700,000 A900,000
O=d DEXT NLSEFH|(HE) 800,000
02 22/l 194,000 400,000 206,000
O=d DAXT NLSHEFH|(HE) 194,000
03 Al THY| 6,000 6,000 0
SH DX XL FY(ME) 6,000
KIYSI A EH(HLH) (HEBALY) 7,598,605 7,598,605
401 A& HI L2 7,598,605 7,598,605
01 Al&H 7,210,730 7,210,730
OEAA XstaHYI (M) 7,210,730
02 22/l 382,525 0 382,525
OFAX XLUSHAFH|(XHE) 382,525
03 Al THH| 5,350 0 5,350
OEAA XIUstaHYI(ME) 5,350
SR JIRIMD ¥ el s 17,541,732 30,000,325 12,458,593
2 7,961,132
2 1,015,000
= 8,565,600
KGR X BEIAY (M EBAL) 4,109,000 3,450,000 659,000
201 Yer2 | 320,000 300,000 20,000
01 Al 22l 300,000 300,000 0
OHERX 20 Hel(HEH) 300,000
®2 222l 20,000 0 20,000
OJIEHE MAtSE S (M &) 20,000
401 A& HIL 20| 3,789,000 3,150,000 639,000
01 Al&H] 3,769,000 3,150,000 619,000
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S BRI
M SHETHGHOIY Y X2 DKM (SELXLINL /X))
=i HE N v WD) PADS VRS- £S5 12 o)) (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OCIEHAEX] ZAHAE) 1,800,000
OXIZotd JI2HE(ME) 1,969,000
03 AIESTHYI 20,000 0 20,000
OXIgatd JI2AHE (M) 20,000
Stz AedsHEEAY) 4,456,600 3,918,000 538,600
201 =3 2,000 2,000 0
01 AtR2t2lt] 2,000 2,000 0
OStEB AL X232 23 (M8 2,000
202 04l 19,000 21,000 22,000
01 =LHA LI 19,000 21,000 /2,000
OHAELX el M2 ZAHEE) 16,000
OSIEEZS It ZAHHE 3,000
403 AXIEHMSA=201d 4,435,600 3,895,000 540,600
01 A= 2 4,435,600 3,8%,000 540,600
OXHGIE FAES=AL(HE) 2,623,600
OXI5td ot EHIAI (HE) 1,562,000
Og=d XYgstd (&) 60,000
O3t XYotd ZHI(HE) 50,000
Odd XYstd FHI(HE) 50,000
OUXIE XYt (Mg 30,000
Ot ot FHI(HE) 30,000
oZAA otd FHI(H&) 30,000
2ot KR XES(=21) 7,961,132 6,787,438 1,173,694
= 7,961,132
403 AXIEHMSAH=0l 7,961,132 6,787,438 1,173,694
= 7,961,132
01 XISHH A =2 E 7,961,132 6,787,438 1,173,694
O=Jlotd |2+ 7,961,132
= 7,961,132
A0LE AHIE22 AL (21) 1,015,000 1,960,000 A945,000
[ 1,015,000
403 AXIEHHSAH=0lH 1,015,000 1,960,000 945,000
= 1,015,000
01 AXISHHA2EE 1,015,000 1,960,000 945,000
OADIE AHE2ACIAAE 1,015,000
= 1,015,000
HY2AHHI(GHE) (OIEHIIE}) 31,164 32,509 A1,345
=34 31,164 32,509 1,345
2A29 J=23l 31,164 32,509 A1,345
201 er23| 20,876 22,449 A1,573
01 At2teltl 20,876 22,449 A1,573
ORAMEY AtR22lH] 20,876
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SAM: ol
T WIS AAH|(HE ) OIEHIIE)
=91: Jl=3dl (EH2): ®F)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 6,688 6.460 228
01 SLHoIH 6,688 6,460 228
OR N2 =LY 6,688
203 HR=AH] 3,600 3,600
M A2 LIRFAI 3,600 3,600
©202! Olat 300,000 x 12 3,600
NWRES (M) (SSE MK /THHST - 2129) 480,000 0 480,000
SHeHXIE 480,000 0 480,000
Agotd '22.8.8.~17. 2 Lloi=+ 480,000 0 480,000
705 Ol=22ciSais 480,000 0 480,000
02 Gl== 0l Xtat&t 480,000 0 480,000
OXgotd '2.8.8.~17. SRIoi=+ 480,000
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